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Guess Paper – 2012
Class – XII
Subject –Physics
1. A Rowland ring of mean radius 15 cm has 3500 turns of wire would on a ferromagnetic core of relative permeability 800 What is the magnetic filed in the core for a magnetizing current o 1.2 A?

(a) 5.48 T                      (b) 4.48 T                  (c) 6.48 T              (d) 7.48 T

2.  A voltmeter of range 1 volt has a resistance of 1000 Ω To extends the range to 10 volt the additional series resistance required is of 

(a) 1000 Ω                     (b) 1000 Ω               (c) 9000 Ω             (d) 10,000 Ω

3.  When a soluble impurity is added to a liquid the freezing point of the liquid 

(a) Remains unchanged           (b)rises             (c) falls         (d) may rise or fall

4.  Newton’s second law of motion gives the measurement of 

(a) Acceleration      (b) force       (c) momentum    (d) angular momentum 

5.  Which of the following forces are electromagnetic in nature 

(a) Reaction on a body                       (b) Tension in a spring

(c) Weight of a body                           (d) Elastics force in a string

6.  A dielectric slab of thickness d is inserted in a parallel plate capacitor whose negative plate is at X=0 and positive plate is at X=3 d. The slab is equidistance from the plates. The capacitor is given some charges As X goes from 0 to 3 d.

(a) the electric potential increases at first, then decreases and again increases

(b) the electric potential increases continuously 

(c) the direction of the electric field remains the same

(d) the magnitude of the electric field remains the same
7. A body is imparted motion rest to move in a straight line If it is then obstructed by an opposite force then 

(a) The body may necessarily change direction 

(b) The body is sure to slow down 

© The body will necessarily continue to move in the same direction at the same speed

(d) None of the above

8.  At the top of the trajectory of a projectile the acceleration is 

(a) The maximum        (b) the minimum          (c) zero              (d) g

9. 10. A man is at rest in the middle of a pond on perfectly smooth ice He can get himself to the shore by making use of Newton’s:

(a) First law          (b) second law        (c) third law     (d) all the laws

10.  Which of the following statement about friction is true?

(a) Friction can be reduced to zero

(b) Frictional force can be accelerate a body

© Frictional force is proportional to the area of constant between the two surfaces

(d) Kinetic friction is always greater than rolling friction

11.  There will be increase in potential energy of the system if work is done upon the system by 

(a) Any conservative or non- conservative forces

(b) A non – conservative force 

© Conservative force 

(d) None of the above
12.  An object of mass 10 kg moves at a constant speed of 10 ms‾¹ A constant force that acts for 4 sec on the object gives it a speed of 2 ms‾¹ in opposite direction The force acting on the object is 

(a) – 3 N                         (b) –30 N                         (c)  3 N                   (d) 30 N
13.  A body of mass 4 kg moving on a horizontal surface with an initial velocity of 6 ms‾¹ comes to rest after 3 seconds If one wants to keep the body moving on the same surface with the velocity of 6 ms‾¹ the force required is 

(a) zero                           (b) 4 N                      (c) 8 N                       (d)16N
14. In the Bohr’s model of hydrogen atom the ratio of the kinetic energy to the total energy of nth electron in nth quantum state is  

(a) -1                                         (b) +1                                        (c) -2                                (d) +2

15.  In a common emitter amplifier using output resistance of 5000 Ω and input resistance of 2000 Ω if the peak value of input signal voltage is 10 mV and β = 50 then peak value of output voltage is 

(a) 5× 10-6 V                            (b) 12.5× 10-4 V                        (c) 1.25 V                     (d) 125V 

16. 23. Frequencies higher than 9 MHz are found not to be reflected by the ionosphere on a particle day at a place.  What is the maximum electron density of the ionosphere?

(a) 2×1012 m-3                   (b) 1.0 ×1012 m-3                    (c) 9 ×1012 m-3             (d) 10 ×1012 m-3   

17.  A T.V tower has a height 200 m By how much the height of tower be increased to 

(a) 1600 m                                  (b) 800 m                           (c) 1800 m                         (d) 600 m 

18.  In short wave communication waves of which of the following frequencies will be reflected back by the ionosphere layer having electron density 1011 per m-3?

(a) 2MHz                               (b) 10MHz                            (c) 12 MHz                      (d) 18 MHz
19. Which of the following is NOT the case with image formed by a convex mirror?

(a) it is erect   (b)it is virtual     (c) it is diminished   (d) it lies beyond the focus

20. What will be the distance of the object When, a convex mirror produces an image of magnification m? The focal length of the mirror is f?

(a) (1-m) f/m                   (b) (m+1)f/m                 (c) (m-1) f                   (d) (m+1)f

21. A n object is placed at the focus of convex mirror IF the focal length of the mirror be f then the distance of the image from the pole of the mirror is :

(a) less than f                (b) equal to f              (c)more than f            (d) infinity

22. Angle of minimum deviation for a prism of refractive index 1.5 is equal to the angle of prism The angle of prism is

(a) 62 º                                (b) 41 º                        (c) 82 º                   (d) 31 º
23. Yellow light is reflected through a prism producing minimum deviation if i1 and i2 denote the angle of incidence and emergence respectively for the prism then,

(a) i1 = i2                                         (b) i1 >i2                                (c) i1 < i2                 (d) i1 + i2 = 90 º
24. A ray of light is incident on  prism of refractive index 1.5 The angle of deviation is

(a) 45 º                                (b) 30 º                        (c) 75 º                   (d) 60 º

25. An object is placed at a distance of f/2 from a convex lens the image will be 

(a) at 3f/2 real and inverted      (b) at 2f virtual and erect 

© at 2f real and inverted           (d) at one o the foci virtual and double its size

26.  The focal length of a convex lens is 30 cm and the size of image is quarter of the object then the object distance is 

(a) 150 cm                  (b) 90 cm                (c) 60 cm                    (d) 30 cm

27. Electromagnets are made of soft iron because soft iron has

(a) large susceptibility and small retentivity

(b) large susceptibility and large retentivity

(c) small susceptibility and small retentivity 

(d) small susceptibility and large tetentivity

28. The hysteresis loop for the material of a transformer core is

(a) tall and narrow


 (b) tall and short



(c) tall and wide 

         (d) none of these

29. A sensitive magnetic instrument can be shielded very effectively from outside fields by placing it inside a box of

(a) teak wood



   (b) plastic material

(c) a metal of high conductivity
   (d) soft iron of high permeability

30. A body is executing simple harmonic motion with an angular frequency 2 rad /s the velocity of the body at 20 mm displacement when the amplitude of motion is 60 mm is 

(a)40 mm/s        (b) 60 mm/s      © 113 mm/s      (d) 120 mm/s

31. A spring 40 mm long is stretched by the applications of a force If 10 N force is required to stretched the spring through 1 mm then the work done in stretching the spring through 40 mm is 

(a) 84 J               (b) 68 J                 (c) 23 J                (d) 16 J

32. Direct intensity modulation is alike 

(a) AM                          (b) FM                              (c) PAM                         (d) PCM

33. Which function describes the frequency spectrum of FM waves?

(a) Bessel                       (b) Gauss                  (c) Fourier                 (d) Hartley

34.  To design high power transmitters for radio we use __________ at the last stage amplifier

(a) Tunnel diode                 (b) transistor 

(c) Power transistors         (d) vacuum tubes

35. Which of the following does not use the space waves propagation?

(a) Television                                 (b) Radar  

(c) Microwave communication (d) Medium wave communication

36.  What is the radio waves signal called if it propagates from one place to another along the surface of the earth?

(a) sky wave                         (b) Ground wave         

 (c) carrier wave                  (d) Modulated wave

37. . If the atom 100Fm357 follows the Bohr model and the radius of 100Fm357 is n times the Bohr radius then find n

(a) 100                            (b) 200                                 (c) 4                           (d) 1                                                                                                                               4

38.  The penetrating powers of α, β and γ radiations in decreasing order are

(a) γ, α, β                         (b) γ, β, α                (c) α, β, γ                     (d) β, γ, α  

39. The ratio of minimum to maximum wavelength in Balmer series is

(a) 5:9                             (b) 5:36                    (c) 1:4                        (d) 3:4

40. The neutral boron of atomic weight 10.81 is found to have two isotopes B10 and B11.The ratio o abundance of isotopes in natural boron should be 

(a) 11:10                         (b) 81:19                        (c) 10:11                  (d) 19:81

41. The energy released in the fission of 1 kg of 92U235 is 

(Energy per fission = 200 MeV)

(a) 5.1 ×1026 eV             (b) 5.1 ×1026 J         (c) 8.2 ×1013 J      (d)8.2 ×1013eV  

42. Energy released in the mission of a single 92U235 nucleus is 200 MeV. The fission rate of 92U235 nucleus fuelled reactor operating at a power level of 5W is 

(a) 1.56 ( 1015 s-1



(b) 1.56 ( 1011 s-1
(c) 1.56 ( 1010 s-1



(d) 1.56 ( 1017 s-1
Assertion (A) and Reasons(R) are given in the following questions. Mark

(a) If A and R both are correct and R is correct explanation of A

(b) If A and R both are correct but R does not explain A 

(c) If A is correct but R is wrong

(d) If A is wrong but R is correct 

(e) If both A and R are wrong

43. A: The angular magnification of a system is less than 1 It means the image formed is inverted

R: Virtual have magnification > 1

44. A: To produce pure spectrum incident light is passed through a narrow slit placed in the focal plane of a chromatic lens

R: Narrow slit allows a more parallel beam when it passes through the iron
45.  A: Change in momentum associated with a ball thrown normally on a smooth wall is double of the initial momentum

R: The speed of robust may differ with momentum remaining same

46. A: When brakes are applied on a wet road a car likely to skid

R: Because brakes prevent rotation of the wheels and there is not sufficient friction between the road and the wheels
47. A: In perfectly inelastic and perfectly elastic collision kinetic energy is conserved

R: There is always loss of kinetic energy in perfectly inelastic collision 

Read the passage carefully and answer the following Questions:

PASSAGE

 A p- n- p transistor is used I common emitter mode in an amplifier circuit A charge of 40μA in the base current brings a change of 2 m A in collector current and 0.04 V in base emitter voltage.

Questions

48. The input resistance Ri of amplifier is 

(a) 1.5 kΩ                    (b) 0.5 k Ω                   (c) 1.kΩ               (d) 2 kΩ

49. The current amplification factor β is 

(a)100                             (b) 50                           (c) 48                      (d) 96 

50. If a load of 6 k Ω is used then the voltage gain of the amplifier is 

(a)100                         (b) 200                       (c)300                       (d) 400 
SOLUTIONS

1. R = 15 cm = 15 × 10‾² m , N = 3500

μr = 800 ,  i= 1.2 A

 B =μ0μrNI 

Substituting the values we get

B = 4[image: image2.png]


 × 10-7 × 800 × 3500 × 1.2 =   4.48T

                  2[image: image4.png]


 × 15 × 10‾²

2. c   10 = [image: image6.png]T000



  (R + 1000)

Or, R= 9000 Ω

3. c

4. b

5. a, b, d

6. b, c

7. b

8. d

9. c

10. d

11. c

12. Here u = 10 ms‾¹, v= -2 ms‾¹

T= 4 s, a =?

Using a = v- u = -2 – 10 = - 3 m/s ²

                    t          4

Force, F= ma = 10× (-3) = -30 N

13. Acceleration a = v-u = 0-6 = -2 ms‾² 

                               t         2

            Force = m a = 4×2 = 8 N

14. a

15. c  Voltage gain 

Av= V0=β R0 or V0 ×β R0
           Vi            Ri                           Ri

Substituting the values we get,

V0 = 10 × 50 × 5000= 1250 mV = 1.25 V

                         2000

16. As vc = 9 (Nmax ) ½ 

Or Nmax= v2c = (9×106)2
                 81        81

      = 1.0 ×1012 m-3
17. d= [image: image8.png]



d’ [image: image10.png]J2h'R



, But d’ = 3d

Therefore[image: image12.png]V2h'R



  = 3[image: image14.png]



               h’ = 9 h = 9 × 200 = 1800 m

   Increase in height of tower = 1800 m- 200 m 

                                                 = 1600 m

18.  vc = 9 (Nmax ) ½= 9 ×106)1/2
                            = 2.86 ×106 Hz = 2.86 MHz
19. D

20. A

21. A

22. C

23. A

24. D

25. D

26. A

27. B

28. C

29. D

30. © v = ω(A²- y²)½

            = 2 (60²- 20²)½

= 113 mm s‾¹
31. (d) work W = 1 kx²

                                      2
32. A

33. A

34. D

35. D

36. B

37. c

38. c

39. c

40. b

41. a

42. d

43. a

44. a

45. c

46. a

47. c

48. b

49. c

50. a
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